PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
30th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope T;{ﬁE
St 3T T Sy wd el & 9R § 98 2

Statements/ HY:

Some boys are screws. / $9 Fl%ﬁ? uq %'l

All screws are nuts. / I U9 diee g1
Conclusions: / fAemd:

I. Some boys are nuts. / I. $9 ﬁ%’% e %'I
II. All nuts are boys. / II. T4t diee dS& Bl

® Only conclusion I follows / Fad e 1 Reaan %

® Only conclusion II follows / Faq ey 11 Heaar %

® Either conclusion I or conclusion II follows / T <Y e 1 O fe ey 11 Frpaarn %

® Neither conclusion I nor conclusion II follows / 7 o fAs®d 1 Arwerar % 3R A é’t A 11

Correct Answer :-Only conclusion I follows / $ad (Y I Neadr g

2)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / RU Uy ¥ 98
g [Id PR o ifsal & SreT 7|

* Water and Bucket / U 3R areet
e Ink and Inkpot / Tt Gﬁ'\’aﬂﬁ

e 0Oil and lamp / 39 3R dlus

* Pen and nib / U9 3R A9

()



Correct Answer :-Pen and nib / U 3R 9

3)
Question Stimulus :-

A manufacturer has 3 products in his portfolio- A, B, C. They are manufactured in batches,
as the cost of changing from one product to another is quite high. A can be produced at a
rate of 1000 units per month, B at a rate of 800 per month and C at 700 per month. Once a
product is taken up for manufacturing it will be continued for at least 2 months and a
product is manufactured only once (one batch) in a year. At a time only one product can be
manufactured. Products have to be manufactured before their respective demand season
starts. Product A demand always happens between January and May, B between April and
September and C between August and January. / T&h fFratar 1 Faw '\‘Iﬁl 3 3diq %— A, B, CI G|
& # fAffa 819 §, =% uer Icue &) g # geeq Ft aNTd HT6! Af¥E 31 A BT Ufa T8 1000 saﬂs‘q‘r
Dt IR W I fHaT & HFHaT &, B BT 800 Hi 3 W 3R C HT 700 IHIIA BI & A IS foham & Tl
81 T 9R TF SAIG FT A0 = 311 & 915 I8 FH A $4 2 TEH & g IR a1 9w SR U 31 $i
F9d TP IR (TP Q) TS 9a | Ffifa forar s ve awa § $aa o sare FAffa fosar s g g1
Id1E! B ITH! Yafdd AT ¥ yga AT forar s giar 21 Iuie A & |itT gH= S9as) iR 18 & Si9 gl
§, B @ AT 3fd iR fydar & o9 8k ¢ &t 3rTa 3R wi=adt §i= gidl 81

How much demand of A in the next year can be satisfied if production for C is over in _
August and a two month shut down of plant is suggested for maintenance? / 3T g # A B
ot 9T T8 @1 o1 APal 3 SR C BT I 3 & TeH 81 WY 3R I P IW-IWE & e af ag=
§¢ ¥@T1 Wg?

® 1000

® 1500

® 2000

® 2500
Correct Answer :-2000
4)
Question Stimulus :-

A, B, C, D, E and F are cousins, No two cousins are of the same age, but all have birthdays
on the same date. The youngest is 17 years old and the oldest E is 22. F is somewhere _
between B and D in age. A is older than B. Cis olderthan D. / A, B, C, D, E 3R F TR mé%,

o135 o} & TN YISl P g TP JuH e €, fhg T & o T F aila wo € 81 Ted B Pt g 17
TR MR TSE B AP 22 FHI A B AR D FAAZI A, BIATST8I C, D A TSI 8l

Which of the following must be true if exactly two of the cousins are between C and F in

age? / A9 & | P9 I1 T« € §F1 TR, SRR Irad | & TE HISEl B g C 3R F & 9 82

e AisbetweenF & Dinage / A AF& DS I3

@)



e Bisl7 yearsold / B®I 317 994 ¢

¢ BisyoungerthanD / B, D ﬁ@ﬁa%

* Fis18 yearsold / F®I Mg 18 ¥ §
Correct Answer :-F is 18 years old / F &1 31g 18 99 §
5)
Question Stimulus :-

Chanakya was an advisor to which famous king? / dTOTR] T Ul IS &1 IAEHIR 412
® Chandragupta Maurya / 9-%IW Hrd
® Akbar / 3Ppda¥
® Ashoka / 32T
® Rajendra Chola / IS A
Correct Answer :-Chandragupta Maurya / T &l Hid
6)

Question Stimulus :-

If nuclear weapon means hallucinations, and it's a nuclear weapon, then it's hallucinating. /

Ife TRATY SRR &1 Aaad ARy 3, SR I8 TP WA AR &, O I8 Afay¥ &1
* True / Hgl
* False / TTaq
e Maybe / B Tl 8
* Irrelevant / 3RS

Correct Answer :-True / 98l
7)
Question Stimulus :-
The river Son is in the / @—"T T'Iﬂ mﬁ' 3‘
® Chambal Basin / 9@ 9
® Narmada Basin /qﬁaT CIRE]
(4)



® Ganga Basin / 7Tl IR

® Yamuna Basin / 9T CIRE]

Correct Answer :-Ganga Basin / 77T 91

8)
Question Stimulus :-

Study the following figure carefully and answer the question. The triangle represents
doctors. The circle represents players and the rectangle represents artists. /

BT SO A AT B AR Ul &1 o1a1d & | Brapior Sidel &1 gxitar 31 99 Ryanfsal &1 qxifar g 8k emaa
FHATH B gRIaT 3

30 3

Correct Answer :-3

9)
Question Stimulus :-

If AOB means A is the wife of B, A*B means A is the son of the B and AIB mean A is the sister of B, which of the following
would mean then X is the daughter of Y? /'Qﬁ' AOB WW%A, B ﬁqﬁﬁ%, A*B EFI'TIW%A, B iﬂaﬂ% \’rﬁ?ATB
PIAAASE A, BPI 984 2| Fufifaa # A e Adaa e &1 x, y B3 82

e x*wivoy
* Xiw*voy

® xiwov*y

(®)



® None of these / Eﬁﬁﬁéﬂé’ﬂ

Correct Answer :-xiw*voy

10)
Question Stimulus :-

Humayun’s son was / GHIG BT G UT
® Akbar / ShdX
® Babur /dTdY
® Ajathashatru / 3ISITdRTY
* Qutub-ud-din Aibak / Fgd 3¢ &I CaH

Correct Answer :-Akbar / 3[®dX

11)

Question Stimulus :-

In cricket, the two sets of wicket are / Wﬁﬁ%%?ﬁ@f%l
® 18 vyards apart /18 Wﬁ@'ﬁlﬂ
® 20 vyards apart /20 Wiﬁwtﬂ'
® 22 vyards apart /22 nﬁraﬁgﬁw
® 24vyards apart/2411\_r[ﬁ§'\&w

Correct Answer :-22 yards apart / 22 7T &I gt W

12)
Question Stimulus :-

Who founded the Mahatma Gandhi Kashi Vidyapith? / HgTHT TTsH B12it faemdts 3t - feaa 3t G
® Madan Mohan Malaviya / Hg 1=ﬁ3=l qraarg
® Acharya Kriplani / SR W'F'ﬁ
e GB Pant/ Slial U

® Bhagwan Das / AT Q¥

(6)



Correct Answer :-Bhagwan Das / HIdIH g

13)
Question Stimulus :-
Who was the first Afghan ruler of Delhi? / ﬁc_vﬁ & mr@f uaﬁ 3BT TSI ?ﬁ:l' ) s
* Buhlul Lodi / §gId it
e Ibhrahim Lodi/ SST&H alcl
® Babur /dldX
e Sikander Lodi / RidheR @Gt
Correct Answer :-Buhlul Lodi / §geTel @il
14)

Question Stimulus :-

How many numbers are immediately followed by two letters in the following sequence? /

P e §, RraeRt 220t TREt & R A 918 3 eR o 22

36$EZL>2TH*HY4&KP9?#5JY7SR7WAT1IN@5GB8<+?Q
® 4
°* 1
* 2
e 5
Correct Answer :-4

15)
Question Stimulus :-

The term "Pommel Horse" is used in the game of ./ Qe "‘ﬁ'ﬁﬁ E"Il'\‘f" @Hﬁ' mﬁﬂﬂ SIGH %’l
Tennis / ¢f<IT

Football / eald

® Gymnastics / PHId

Cricket / fSpdpe

(7)



Correct Answer :-Gymnastics / DI

16)
Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / afe Il 3R WR 3Tpfa B ¥4 & ToT 1 & fore wies fovar wrar 8, ot A fawen & @
D A fawer & was orff o e T vaw & fawdia &2

Correct Answer :- -

17)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faoea

ghe, st b @t = F R Re 1w 97 & w9E @:

It is not true that scooters are two-wheelers and cars are four-wheelers. / 8 9d ﬂ%‘f% &

Wpe ufear § ok &1 dufear €1
® Scooters are two - wheelers and cars are four - wheelers /Waﬁ'ﬂﬁm%\%ﬁ?ﬁ%ﬁﬂﬁm%
e Scooters are two - wheelers or cars are four wheelers / ¥Fex Ul & T HR AR E

* Scooters are not two - wheelers and cars are four -wheelers / Tpe3 URAT Ta1 § 3R FR

(8)



® Scooters are not two - wheelers and care are not four - wheelers /Wé‘]‘q‘%mqﬁ%\}ﬁ?

Correct Answer :-Scooters are two - wheelers or cars are four wheelers /Waﬁ%m%’m

SR Fiufear s
18)

Question Stimulus :-

Which of the following is a tributary of river Godavari? / fada P qﬁ Tﬁﬂ'ﬁff q?ﬂ G| GTFIT:?f '%?
® Chambal / ¥l
® Wainganga / CLU)
® Betwa/dddl
® Ken/®

Correct Answer :-Wainganga / CRu|

19)
Question Stimulus :-

Who appoints the Attorney-General of India? / P U B HEI=ITgarg! ﬁ'ﬂaﬁ CaGl %?
® Chief Justice of India / HIRd & H&T TAT=T
® Union Law Minister / H&Id DI A
® Prime Minister / U&T< T

® President / TI'ZTIﬁI'

Correct Answer :-President / TTgUfd

20)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g ar Fl R IR R FsE F T 2 -

"It is not true that both Frank and Dan are students” / "9 94 T-Iﬁ% ICg aﬁ}f T iR &9 B

® If Frank is not a student, Dan is not a student. /tﬂ%ﬁa‘awwqﬁé, @?WW?&%I

©)



e Dan is not a student and Frank is not a student. / 37 T% ST 781 ¢ iR P TS S 781 gl
e If Dan is not a student, Frank is not a student. /triﬁéqu#f%, %WW-T@%I

* Frank is not a student or Dan is not a student. / % U$ S 5] ¢ 1S U S g1 ¢

Correct Answer :-Frank is not a student or Dan is not a student. /%WW?@T%W@?W

B TRl Bl
21)

Question Stimulus :-

Which branch in Archaeological Survey of India carries out research in Sanskrit and other Dravidian
inscriptions? / Wgﬂﬁﬁﬁwﬁﬁ??ﬁmﬁm Gﬁ?&?&?{ﬁ%’ﬁtﬁﬁ@ﬁ Glﬂﬂ"iﬂqm
SITdT 82

® Lexicography branch / PR =TT

® Epigraphy branch / m R RTET

® Mythography branch / HYYITH| RaT

® Historiography branch / gfae™ ECE RG]
Correct Answer :-Epigraphy branch / RS R XITET
22)
Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / &I ¥(eg STYR g 16 o | 9 § A GHM sl ST gH 10 Do
Profit : loss :: / WY : ETﬁ 2

® Success : Failure / Siid : BR

® Rupee : Paisa / UAT : UAT

® Whole:Part / JUT : YNT

* Multiplication : Addition / T[UT : SIS
Correct Answer :-Success : Failure / Si1d : R

23)

Question Stimulus :-

(10)



The Chairman of the Rajya Sabha is the / ITod HHT & gHTafa %
® President of India / HIRd & Tl'gqﬁ'f
® Vice President of India / HIRd *» GTRTETIﬁ
® Prime Minister of India / HIRd & g |l
® Speaker of the Lok Sabha /aﬁm JHT & el

Correct Answer :-Vice President of India / HIRd & mgtrﬁ

24)
Question Stimulus :-

Which State is the largest exporter of Basmati rice in India? / DI T I HRd H IIHT A9 BT Jad 98T
Frafas 32

e Delhi/ fecet
e Madhya Pradesh / T USRI
L Haryana/EﬁTITU]T
L Bihar/ﬁ?ﬁ
Correct Answer :-Haryana / §IRATOMT

25)
Question Stimulus :-

Who was awarded the title ‘Mightiest Prophet of Nationalism” / }TgdTq P dTHdaR Waw & Iufy F 5
T fomam T

® Bhagat Singh / HITd ﬁl’s’

® Chandrashekar Azad / m STolT
® Bipin Chandra Pal / fafts 9@ ura

® Subhas Chandra Bhose / JHTY g 919

Correct Answer :-Bipin Chandra Pal / fIfe 9% urar

26)

Question Stimulus :-

(11)



Which is the only surviving temple of the Sun god in Khajuraho? / EW | '\Tif ST FT UHHTA a7 g3l Hfez
DT AR ?

® Jagadambi Temple / TG TfeR
® Chandragupta Temple / - HfeR
® Viswanath Temple / ﬁ%FIT?-I 'FI"%?
® Nandi Temple / 4t wfeR
Correct Answer :-Chandragupta Temple / T HiR

27)

Question Stimulus :-

Which dam is to be constructed at village Panchpula of district Badwani, Madhya Pradesh across one of the
tributaries of the Narmada? / @11 IT 91¢ oIl asarit & Y=Ye id, 94 W= § 9147 ST ¥eT § St &
THeT Tt TT® G W R §?

® Goi Dam/ HRd PR T(Y
® Maheshwar Dam / II%’H'\’ q1Y
* Kolar Dam / HIAR Y
 Jobat Dam / Sidc qi¢Y

Correct Answer :-Goi Dam / HIRd TRPIR T1Y

28)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 9% &, 9gd o ugl & dig [HA voR I IS J9y g| 9 e & I ot ug g
Rrae1 A e & Ty S TSR $T J9Y g

ADE : FGJ :: KNO : ?
® PQR
® TPR
® PQT

® RQP

(12)



Correct Answer :-pQT

29)

Question Stimulus :-

Pandit Kumar Gandharva Samaroh is held in

ST 71
® Indore / SER
® Maheshwar / HGYR
® Dhar / &R
* Dewas / QT

Correct Answer :-Dewas / ¢ard

30)

Question Stimulus :-

. / Ufsd $UR Tiyd uRs ¥ smaifa foean

Select the option that is true about the Statements and Conclusions given: / dg fawea qﬁq

<t fRE e Sy vd Frepul & o & 9t R

Statements: / YH:

Some snakes are cobras. / P9 T HIeRT %'l

Some cobras are reptiles. / P9 WW %

Conclusions: / fishd:

I. Some snakes are reptiles. / I. $© 9iU ﬂﬁ'\“ﬂ gl
II. No snake is a reptile. / II. W-]'&F g '\‘Iﬁﬁ'q Hﬁ%l

® Only conclusion I follows / Faa e 1 e %

® Only conclusion II follows / Fad ey 11 Rpaarn %

® TEither conclusion I or conclusion II follows / 9T a fAwed 1 ar fpe e 11 IEEASGI %

® Neither conclusion I nor conclusion II follows / 7 @l e 1 Fedan % Gﬁ?' G) Epf s 11

Correct Answer :-Either conclusion I or conclusion II follows / IT dl fAs®d 1 1 fiby Aspd 11 Arpear %

31)

Question Stimulus :-

(13)



In 1906, what was first sung at the United Bengal Home in Gujarat? / 1906 H, TSIRTd | RRESICRIC RIS |
T TTT T 41?

Vande Mataram / aé'qﬁw

® Jana Gana Mana / G- 7O 9

Hum Honge Kamyaaab / §H E.ﬁ)[ DPIHATd

® Bhagavad Gita / HITdq Uik
Correct Answer :-Vande Mataram / G¢HTIRY
32)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafrfad vy & e arde w0 & sl 3 gt B3 3R 39 916 Hih T e Ree o @ 9ed suge
ITHH BT TIT P
1. Foetus 2. Child 3. Baby 4. Adult 5. Youth
/1. Y01 2. 9=1 3. RIY 4. 998 5. qaT
* 1,2,4,3,5
* 1,3,2,54
e 2,3,54,1
e 54,2,3,1

Correct Answer :-1,3,2,5,4

33)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

ghgSiad st IR R s Faum 2 :
"If my cab is late, then I'm late to office.” / "afd ¥ $9 ¢& A ol & @ &§ &) & 3w ugaar

o

[
* If my cab is late, then I'm late to office. /ﬂﬁﬁﬁ%éﬁﬁ&ﬁ%ﬁﬁ?@éﬁmqﬁw%
e If I'm late to office, then my cab is late. / af¢ T 33 A 3y Ul §, o A H XA mA B

(14)



e If I'm not late to office, then my cab was on time. /qﬁﬁkﬁaﬁmqﬁﬁwi GIR: Rk
THY TR 3 &t

° MX cali is not Iate and I'm not late to office. /ﬁ'ﬂ%ﬁaﬁﬁqﬁ&ﬂ?ﬁ% AR H ar”rfama?ﬁqﬁ
Ugddigl

Correct Answer :-If I'm not late to office, then my cab was on time. / 3¢ # 3T ¥ 3ffftpw 7151
Ugadl §, o B3 9 90y R 3wt ot

34)
Question Stimulus :-

How many times 'S’ exceeds 'R’ in the word 'TRANSGRESSION'? / ‘TRANSGRESSION’ Rcq o
s’ fpaq 9 R’ T 31 82

Correct Answer :-1

35)
Question Stimulus :-

How many times has the Commonwealth Games been held in India? / HIRd ¥ fpat IR W@T’ﬁ' Cal
TSI §3MT 82

e 2
e 1
e 3
e 5
Correct Answer :-1

36)
Question Stimulus :-

The minimum educational qualification to contest for the post of member of Legislative Assembly in any state of India

is / FaeTT THT & T & Ue & g9 s & forw yra A flY sroa § =gaw Afére avaar g

(15)



® Graduate / HIdPH

® Post Graduate /mﬂ?
® SSLC or its equivalent / THUHTSH! TT STP JHDE
« None of these / SH ¥ ®Ig gl

Correct Answer :-None of these / 398 J &S T8l

37)
Question Stimulus :-

From amongst six boys A,B,C,D,E and F and five girls P,Q,R,S and T, a team of six is to be
selected under the following conditions : / A,B,C,D,E 3R F T: ¥s®! & ¥ 3 P,Q,R,S 3R T U™
aefeal # 9, ©: - #1 9 &1 Ay w6l w99 fear s 8:

A and D have to be together / A 3R D I1¥ & 389 <1igT

B can’t be teamed with E / B 1 & E & TIY g1 gl APl

C and Q have to be together / C 3iR Q Iy # g7 3T

D can’t go with P / P & {14 D F&! off J&dl

C can’t go with S / S & T4 C &1 ol g&dl

B and R have to be together / B 3R R AU A G| illl%'!

S and T have to be together / S 3R T 914 # g 1T

If including P the team has three girls, the other members are: / 3R P & fiam®: &9 dsfear
&, 1 =T Wy i

e BCFQR
e ADBST
e ADEST
e BFRST

Correct Answer :-BCFQR

38)

Question Stimulus :-

(16)



Directions: On the shelf are placed six volumes side by side labeled A,B,C,D,E and F. Three
volumes C, B and E have blue covers while the rest have red covers. D and F are new
volumes while the rest are old volumes. A, C and D are law reports while the rest are
gazetteers. / F31 :fHdl e R B7 YA F A,B,C,D,E 3R F | 3ifFd o= TH g & IR 3@ 41 ¢
30 ¥ &9 Y ¢, B 3R E W e 3marvr § Safe 9 uR @1 3601 g1 D SR F AU Uy §, sefe /9 ®RE
g1 A, C 3R D F1A & faawur €, o9 & v fa=fomeT g1

Which one of the following is the old volume of a gazetteer? / g & @ w19 91 Uy faa=ieeT o1
TRMET UY 8?2

Correct Answer :-E
39)
Question Stimulus :-

line is the boundary demarcation line between India and China./ T HRd SR H9 & di9
Hrie Yar g1

* Radcliffe / YSIFIH

° Durand/Tf{(’g

* Red/IS

® McMahon / ﬁmﬁ
Correct Answer :-McMahon / HHHIET
40)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁ'Q
Si T T YAl wd el & R § 9 R

Statements: / PY:

No candy is chocolate / ®I§ Hl dikdc T8l &
No chocolate is sweet / ﬁ?f dipdc ﬁ'o"l’s‘ ﬂ?’r%
Conclusions: / frep:

(17)



I. All candies are sweet / 1. H’lﬂﬁ'ﬁﬁﬁ%
II. No sweet is chocolate / II. g 3T dikde A8l &

® Only conclusion I follows / ad frepY I fAwadr g

® Only conclusion Il follows / Fae fewy 1 FArewear 2

® Both conclusion I and Il follows / I fIs Y I 3R I fFAwad §

* None of the conclusion I or II follows ; Awsd 1 a1 11 & oI5 =6t Foaar g

Correct Answer :-None of the conclusion I or II follows / A4 I a1 II # 4 5 =8l
Feaarg

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

The different between two numbers is 20% of the larger number. If the smaller number is 20 then the largest number is

/ < GBI & §F BT SR IS =T BT 20% &1 Al BT W= 20 &, ) It J=AT ERIT |
¢ 25
o 15
e 50
e 30
Correct Answer :-25
2)

Question Stimulus :-

Anand brought a Maruti car for Rs.1,75000. He spent Rs.10,000 on car accessories & fittings. If he sold the car for

Rs.1,95000. How much profit did_he earn in Rupees? / 3(T-ig = 1,75000 ¥Ud # HI¥{d HR W4l | ITA HR gD

m@m 3 fpfeT U7 10,000 TUR W | Tl ITR 1,95000 TUA &F R $R 7§ B, 9 I U § fa=n ey
far?

® Rs.10,000 / =YY 10,000

Rs.20,000 / ¥4U 20,000

Rs.30,000 / ¥UY 30,000

Rs.40,000 / 3UT 40,000

(18)



Correct Answer :-Rs.30,000 / =Ug 30,000

3)
Question Stimulus :-

The difference of two numbers is 74 and the humbers are in the ratio 3:4. What is the

second number? / &l TB3M &1 3R 74 § AR VBT 3:4 & AU § §1 Ot T=AT S A g2
* 186
* 296
® 216

o None/ﬂﬂ's‘ﬂ%pf

Correct Answer :-296

4)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ 33 T IR vai & ¥ T o8 T 1d & Stp 99 S 91 TP T8l 82

Juana Aguirre

Piedras No 623

Piso2 Dto.4

C1070AAM Capital Federal

ARGENTINA

(i) Juana Aguirre

Piedras No 623

Piso2 Dto.4

C1070AAM Capital Federal

ARGENTINA

(ii) Juana Aguirre
Piedras No 623
(19)



Piso2 Dto.4
C11070AAM Capital Federal

ARGENTINA

(iii) Juana Aguirre
Piedras No 623

Piso2 Dto.4

C1070AAM Capital Federal

ARGENTINA

(iv) Juana Aguirre
Piedras No 623

Piso2 Dto.4

C1070AAM Capital Federal

ARGENTINA

® iii

* iy
Correct Answer :-ii
5)
Question Stimulus :-

The product of 3x2b2 and 5x is / 3x2b2 3R 5x HT [UFGH &
e 17x%b
* 15x3b2
e 14x3b?

e x3p2

(20)



Correct Answer :-15x3b?2

6)
Question Stimulus :-

In tossing of two coins, what is the probability of getting two head? / E.Pf ﬁm&rﬁﬁﬁ? ﬁ%\—:n%r%l 2 fRIe 3 P 9yET
FRITE?

° 1/3

° 1/2

° 1/4

°* 2/3
Correct Answer :-1/4
7)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬁ S&R AP Sl Bl T ?ﬁﬁ'&’ ! a_cbaab _cc_daa_bbb
_ccdd _

® hbdbdad
® bddcad
® dbbcad
® bbdacd
Correct Answer :-bbdacd

8)

Question Stimulus :-

L

1 1k

of number is 100. Find the number? / Th BT ®T 7 HIT 100 §| =T Fopiee?

| n

e 170

* 180

®* 150

* 140

(21)



Correct Answer :-180

9)

Question Stimulus :-

1
1—
A and B can do a job in 14 days. Ais 2 times as efficient as B. The same job
1

1=
canbe doneby Ain / ASRBTG s B 14 AT T R TPHd 81 A, BR 2 TAT HRE 81 A §RT
981 P g1 9wg | fhar o gear g

b
L]

L |
i

2]
Ly |

23 Zdays / 23
3

Lo |

1
23 ;days F23 - &F

I | —

23 days / 23 fa=1

23

1
davs / 23 — &9
Correct Answer :- 3

10)
Question Stimulus :-

If x% of x is 25, then ‘x’ is equal to/ gfe x BT x% ? 25, @A ‘X’ WR %
® 60
® 50
® 40
® 100

Correct Answer :-50

11)

Question Stimulus :-
(22)



What is the minimum number of straight lines required to make the following

figure? / A9 pfd &1 a9 & o =gaw e # feaH! et Yarei o smaxasan grir?

e 9
Correct Answer :-9
12)

Question Stimulus :-

How many different five letter words can be formed using the letters of the word ‘DELHI’ if repetition is not allowed? /

afe gRIgfa 3fd 8 8, 9 ‘DELHI RIS & 3A&RY BT TUNT B UId eR & fran e visg a9 9oa &2
° 24
* 48
* 9
* 120
Correct Answer :-120
13)

Question Stimulus :-

In the sequence shown below, which figure comes next? / <d fRE™ & H9 ¥ [Tl 3MFH
®i= At gift?

(23)



@) T ' TaY o280 208
L 2§ ] L 1 10)] a9 L 1 1o
L 1 e (Y 1) T Y ) aae

o] 1
*08
e8d

see
*0e
1L

496
O0e
*Ce

90
206
ol ]

Cew
-1 1
eeod

Correct Answer :-

14)
Question Stimulus :-

In a certain code language, fom pom yum means ron is crying, som yum pin means harry is laughing, cim
fem som means roma laughing too. Which is the word for pin in that code language? / fodl @™ PIs HIHT
b, tom pom yum &1 AqAd ¢ ron is crying, som yum pin &1 9qad § harry is laughing, cim fem som &1 aqad g
roma laughing too | 3 ®is YT ¥ pin & oI FAT g 2?2

® ron

® roma

® harry

Correct Answer :-harry

15)

(24)



Question Stimulus :-
In a certain code language, players wear shoes means bin tin rin, ladies wear bangles means sin cin tin,
bangles of gold means nun sin fon. Which is the word for ladies in that code language? / Tt TN B8
UTST W, players wear shoes &1 7aad € bin tin rin, ladies wear bangles &1 9dd € sin cin tin, bangles of gold &1
A § nun sin ton | IH HIS U § ladies P T F97 g B2

® nun

® cin

® sin

® tin
Correct Answer :-cin
16)
Question Stimulus :-

A fair coin is tossed. What is the probability of getting head? / wﬁw&rﬁwﬂmmél fre om S Sy

5

° 1/4

* 1/3

° 1/2

° 2/3
Correct Answer :-1/2
17)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁqwr &R gIP adr &Y Wﬁﬁﬂ! :
mnonopqopqrs

® mnopqr
® oqrstu

® pqrstu

® qgrstuv

(25)



Correct Answer :=pgrstu

18)
Question Stimulus :-

A person travels equal distance with speeds of 4 kmph, 5 kmph and 6 kmph and takes a total time of 74 mintes. The

total distance (km) is/@ﬁlﬁﬂﬂm, Sﬁ"ﬂ:ﬂ'uﬁ'ﬁa, 3-ﬁ?6ﬁ'ﬂ:ﬁ'§lﬁ?iﬂ, eﬁ?sﬂﬁaﬁww 74
firTe wrar 81 o gt (e @

e 8kms/ 8 fopeit
e 10 kms/ 10 fTf
e 12 kms/ 12 Tl
* 6kms/ 6 fopeit

Correct Answer :-6 kms/ 6 fpH}

19)
Question Stimulus :-

The average of first 50 natural numbers is? / Ugelt 50 UiHfa® J=3il T 3id 32
& 245
e 23.5
® 255
® 275
Correct Answer :-25.5
20)

Question Stimulus :-

If MOZART is coded as NNAZSS then KATHAMANDU is coded as / af¢ MOZART
P NNAZSS ¥ sifed far oiar 8, 9 KATHAMANDU &1 B9 $ifsd forar s

e LZUGBNBMET
e LZVGBLBMET
e LZUGBLBMET

e LZUIBLBMET

(26)



Correct Answer :~-LZUGBLBMET

21)
Question Stimulus :-

In a certain code, 35791 is written as 44880 how is 24685 coded? / ot @ g ﬁgﬁ, 35791
H1 44880 forar wIaT 8, 24685 Ft H4 Pited fbar JRATT?

e 33766
* 33786
* 33776
* 44776

Correct Answer :-33776

22)
Question Stimulus :-
Complete the series choosing the missing number: / AW TQT TAH FTET BT T BIOT :
1,8,27,64,

® 125

° 120

® 130

® 135
Correct Answer :-125
23)

Question Stimulus :-

In a certain code language, Love is blind means 347, Help blind men means 756, Love is sweet means 439.
Which is the word for sweet in that code language? / f&el @I PIS YT H, Love is blind &1 waes & 347,
Help blind men %1 wae@ § 756, Love is sweet &1 7a@d § 439] S ®Is YT H sweet & T T Ag 82

9
¢ 4
¢ 3

(27)



e Fither 4 or 3
Correct Answer :-9
24)

Question Stimulus :-

If A61B X A17 = 11B5638 Where A,B and D are representing different numerals; What is the value of ‘B’?
/ Tf¢ A61B X A17 = 11B5638 ST8T A,B 3fiR D faf¥ra H=i® &; oY ‘8’ &1 A9 &1 grm?

e 5
¢ 2
°* 4
e 1
Correct Answer :-4

25)

Question Stimulus :

o | e

A train running at of its own speed reached a place in 18 hrs. How much
time could be saved, if the train would have run at its own speed?/ T& ¢+ 3U=l

-

WIH TP 2 P IR A 909 8T 18 02 H T Ml = R ugEd 21 ot 3 o ww @l @
TId, @ fHaaT 99 T=T S T 82

® 14hrs/14 Ee
® 12hrs/12%¢
® 4hrs/4%¢
® Ghrs/6 e

Correct Answer :-4 hrs / 4 0¢

26)
Question Stimulus :-

(860/5)-(100/10)x0+(44/11)x8-16x5=?

® 124

(28)



° 134
e 130

* 120

Correct Answer :-124
27)

Question Stimulus :-

Complete the series choosing the missing number: / I =T gIHR %ﬁTaﬁTBT DI :

12,32, @ ,152,312
® 70
° 72
® 75
* 74
Correct Answer :-72

28)

Question Stimulus :-

A shopkeeper brought 6 tons of wheat at Rs. 1.80 per kg & sold 4.7 tons out of it at rate of Rs. 2 per kg. How much
profit will he get if he sells the remaining quantity at Rs. 2.50 per kg? / T® GPTGR A Ufd fhal 1.80 Tud & fFaE
¥ 6 T g TieT 3R 2 T Ufa fobeil $1 g2 W 4.7 &1 99 fam afe g Aw A 2.50 Fu¢ ufd fral W aTan g,
o] faar ary iR

* Rs. 940 / ¥Ud 940

* Rs.2600 / ¥U4 2600
* Rs.1600 / ¥Ud 1600
* Rs.1850 / ¥Ud 1850

Correct Answer :-Rs.1850 / $Ud 1850

29)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / 1 & TF 4G &Rl T HEATSN BT SIHH WANT HRdl & | Tad "die ggar-d |
(29)



(i) NO090123G36

(ii) NO090123G36
(iii) NO098123G36
(iv) NO090123G36

® j

® i

® jv
Correct Answer :-iii
30)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, T=T ST A TP UG TAd §| Tad UG I BIc”| 1,9,25,49,80

® 9
® 49
* 380
° 1
Correct Answer :-80

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The image formed by a concave mirror can be / T 3fdddl E'&UT gIRT fafda ufafds _bpf Jbdt % :
® Smaller or larger than the object / d¥d T BT sryar gol
® Real or virtual / IRATID YT THTHT
® OnlyA / $ad@ A

e BothA & B / AWd B dIHl
(30)



Correct Answer :-Both A & B / A T4 B Gl

2)
Question Stimulus :-

A person whose clothes are on fire is covered with a blanket to / T \’rl'la'lﬂ e m H 3T &7 Tl'!ﬂ, 3|
S A HT 94T §

® Attain its ignition temperature / FSTRIY 98 3IUAT USTa-dTd UTWd & &
® Cut off the air supply / TaT PI Gftl Ple & fog
® Keep the body cool / TR H BUST I@ & o
® Keep the body warm / TRIR &I TH @ & ol
Correct Answer :-Cut off the air supply / 8T @I Ifel BTeq & fow
3)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / = o€ 10 IR uyi & forw fAd=n: 9
3T T UTE BT T B R U BT IW 1 SN P [T FHIAT Jeul IR AR B

Student using computers

—— Std 12th

—8— Std 10th

% of students
on
[ ]

84 88 89 90 g1 92 94

Year

In which of the following year number of computer users was highest? / f5g & & foog af o HEYCY SUINT FHA
e g S &2

® 1992
® 1984

® 1994

® None of the above/m 73 aﬁ‘s‘ T-Iﬁ

(31)



Correct Answer :-1992

4)
Question Stimulus :-

Find the area of a circle of radius 8.4 cm. / 39 dd &I aﬁ":h_c'f Td ﬁ'ﬁl‘({ et B 8.4 At %I
e 84 cm2/ 84 JH 2
® 221.76 cm?/ 221.76 THT 2
® 77/2cm?/77/2 Q4 2
* 0.0084 m2/ 0.0084 Hiex 2
Correct Answer :-221.76 cm?/ 221.76 9H} 2
5)
Question Stimulus :-

A pendulum oscillates 72 times in 6 seconds. Its time period would be / T®H AP 6 Gbs § 72 IR ?ﬂ'ﬁ? DIl

€| SHS wHy Aty g
e 12seconds / 12 AHS
® 1.2 seconds / 1.2 qFs
® 1/12seconds / 1/12 AP
® 1/6seconds / 1/6@%
Correct Answer :-1/12 seconds / 1/12 4&S
6)
Question Stimulus :-

Consider the table given below which shows the deposits made in banks during the years 2003 to 2007: / Hr= a TF-S

IR W foaR SR St 2003 | 2007 TuT & SR 1 A AT A1 fe@mar g:

Banks 2003 2004 2005 2006 2007
A 12673 18934 10100 11235 F165
B 13467 11467 21346 13562 19456
C 11456 22378 13783 11256 113238
D 17836 16738 24589 23145 25783
E 13902 15672 17463 26534 14578

(32)



Which bank showed the sharpest decline in deposits from 2005 to 2007? / foT 9% 9 2005 T 2007 T SHI

i § gaw dig frae fears?

Correct Answer :-E

7)
Question Stimulus :-

The process which maintain the balance of oxygen and carbon dioxide is / a3

wihar o SRl SR ST SEsifaaEs | Igad amdl @
® Photosynthesis / UPIRT AT
® Respiration / 49
® Transpiration /HT@T\‘N‘T-[
® Evaporation / dISq-
Correct Answer :-Photosynthesis / USTRI TATUT
8)

Question Stimulus :-

Suitcases are provided with broad handles because / ﬂ?ﬁi‘ﬁ ﬁ iﬁ% %ﬁ ﬁ& GI'I?[ % mﬂ% :
® Small pressure is exerted on the handle / %3?[ U &Y old <TdT SIrdl %
® large pressure is exerted on the handle / %3?[ U ST ¢Id ST SifdT %
® To look attractive / 3(TPYH ﬁ@ﬁ » 1%1:
® To increase the weight of the suitcase / W DI duld Wlef & '[%I'Ef

Correct Answer :-Small pressure is exerted on the handle / %3?[ UR oY qId ST STl %

9)

Question Stimulus :-

(33)



Which of the following is a solution of the quadratic equation

2t —5x+3=0

I w1 P F A P w22
. X=32
., ¥=12
. X=372
. ¥=-372
Correct Answer :-*=/2

10)
Question Stimulus :-
Microscope was invented by / ﬁfﬂﬂ'ﬂﬁm TP 3:@7 QIRT ST AT
® Robert Koch / Jac B
® Anton Van Leeuwenhoek / 'Q'aT-ﬁ ar g a@%ﬁ
® Alexander Fleming / eI ey TR
® Robert Hooke / ﬂﬁéﬁfﬁ
Correct Answer :=-Anton Van Leeuwenhoek / E'c.ﬁ:ﬁ ar Fqﬁ%"w

11)

Question Stimulus :-

Paddy, maize, cotton are grown from June to September. These crops are called / €T, HIB] 3R Hurg Gl I

Rramar a@ STt STt §1 39 wadl Bt R’ T ol 82
® Rabi crops / Tdt ®I A
® Kharif crops / WP P BT
e Summer crops / WHeRIE BId
® Winter crops / Std®TaT B

Correct Answer :-Kharif crops / @RI% $1 BHA

(34)



12)

Question Stimulus :-

cosec 0 is undefined at / W cosec 6 SURHINT g|

e g =45°

e 9 =0°

e 9 =90°

e 45° =9 =90Q°
Correct Answer :-6 = 0°

13)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / Eic] ﬁq T IR Ui & ﬁf({ Ada: R

foT T UTw BT 3reaT HY MR U HT IW ¢ W] P e srgwfa geat wR faar #31

Student using computers

100 7-

—— Std 12th
—=B— Std 10th

% of students

Year

In which year least number of computer users were there in the school? / fog af # foemea A mw
HA IIEl B ST gad B A

® 1989
® 1992
® 1991

® 1984

(35)



Correct Answer :-1984

14)
Question Stimulus :-

Expand IVF / 35dIv® &1 fAwR &3

® In vivo fertilization / 91 m uv—«ffmgﬂm

® In variable fertilization / 91 aﬁ'@ﬁ tﬁzﬁﬁm

® In vitro fertilization / 3 ATSal WlATSARI

® Invalid fertilization / g1 afers m
Correct Answer :-In vitro fertilization / § ATS¢l WIATSARIN
15)

Question Stimulus :-

If tangents PA and PB from a point P to a circle with centre O are inclined to each other at
angle of 809, then £POA = . / O &% a1 g WR fdg P I afe gf =i 3@1¢ PA 9 PB
TP G W 800 &1 HIUT §1d ¢ FH! §3 & ol £POA = gl

e 50°
e 100°
e go°
e 40°
Correct Answer :-50°

16)
Question Stimulus :-

*Soil erosion’ What does it mean in agriculture? / ‘HqI TURGT’ BT Qﬂ:ef o o o %?
® Wasting of soil due to land sliding / 'ﬁ[&f TG & BRI Hal Dt gaIer
® Washing away of soil to make shallow ponds /E'Q-Iﬁ gU¢ dTdld CEIERS m Hal P T
® Washing away of the top fertile soil / Y IueTS: Hal CalE|

® Formation of water channels due to the overflowing water / STl & 3ffd dold I g B eR Pl ferfor

(36)



Correct Answer :-Washing away of the top fertile soil /Qﬂ'ﬁf SUSITS Hal P &N

17)

Question Stimulus :-
A. The quotient of two integers is always a rational humber.
B. 3/0 is not a rational number.

If so, which of the following statement is true for both A and B /
A. &Y QUIf BT NS Hed TP TRAT T gidl 2l
B. 3/0 U% URTY TBAT 76T B

gfe ¥ § o, Fufaiea & & o9 a1 9w A Td B gH1 & fowa & 9 §1

® Both A and B are incorrect. / A Td B a:ﬁ R %.I

® A is correct and B is correct explanation of A / A TdBA *® ﬁl’E ﬂ?f faazor %I

® A is correct but B is incorrect. / A I % R B (I %I

® A is false but B is a correct explanation of A / A 3 cd % WRIBA » m ﬂﬁ faazor %l

Correct Answer :-A is false but B is a correct explanation of A / A 3d % WRIBA ® 1%113 W’Eﬁ
faazor 31

18)
Question Stimulus :-

Availability of water and minerals in the soil for maximum absorption by the roots is in the / FK";T gRT Sf¥day

Sra=uYr & e Rt § oia ok @@=l &t Sudeuar 3ad 81l @
e B-horizon / B-SxR®
e C-horizon / C-iwR
e A- horizon / A-I&RR
® Bed rock / MYR Ad

Correct Answer :-A- horizon / A-S&R

19)
Question Stimulus :-

Find an irrational number in the interval [2, 3]. / [2, 3] & a1 A URAY w2 i |

(37)



L

Correct Answer :-

20)
Question Stimulus :-
A point X lies in the interior of an angle LABC. If LBAC = 80° and LBAX = 529, find the
measure of LXAC. / T® fig X St f% LABC & 3ia: fAfea 8. afd LBAC = 80° 3R LBAX = 52° & &Y
LXAC &1 | JTd BRI
e 38°
o 28°
® 9g°
° 132°
Correct Answer :-28°
21)

Question Stimulus :-

Which of the following statement is true regarding natural gas? / Wﬁﬁ? NP ﬁ'q S_FF?[ T B 9T HY el
F

® Easy to transport /uf¥ag & o smam= %

e Difficult to store / FIg HIAT Hfe %
® Cannot be used in power generation /ﬁg‘q?r SATgd | 1JITh"T =I'5p|' CXd m

® Not a clean fuel / A g?-l:f H’E&%

(38)



Correct Answer :-Easy to transport / URdg" & faw smam= g

22)
Question Stimulus :-

The pollen grains will be carried to the stigma of another flower of the same plant is called / THT nY & Uh quq J
3T U0 & ReTHT & WRIT HU HT RIFTR Haardm gl

® Self pollination / ¥ UITIUT
® (Cross pollination / UIR URTUT
® Wind pollination / 4T URTITUT
® Bee pollination /113@ TRTATOT
Correct Answer :-=Cross pollination / 9% GRTIT0T

23)

Question Stimulus :-

The largest cell measuring 1770mmx130mm is the/m a:=;°r aﬁﬁlaﬂ ST ATYT 170mmx130mm %, feast %
® Peacock egg / HIR &1 3T
° Swanegg/gﬂw 3fST
e Ostrich egg / @RI &1 3fst
® All the above/m Tt
Correct Answer :-Ostrich egg / @ F7 a7

24)

Question Stimulus :-

Geetha and Mamatha are partners in a business.Geetha invests Rs.35000 for 8 months and
Mamatha invests Rs. 42000 for 10 months.Out of a profit of Rs.31570, Geetha’s share is: /

1T Ud 9HdT U9 a9a™ § AEier g1 iar 8 #EH & i 35000 $UA TY HHGT 10 HENR ¥ 7T 42000
TUY A% St 81 31570 3UY & a1 H, far &1 = 8

® Rs.9471
® Rs. 18040

® Rs. 18942

(39)



® Rs. 12628
Correct Answer :-Rs. 12628
25)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / Eic] ﬁ'[{ T IR U4l & ﬁ'l'q fAc=: R
3T T I1% BT rmad Y SR U BT IR &1 IWI P e srgEiT ge R AR B3

Student using computers

—+— 5td 12th

—=— Std 10th

% of students
]
o]

a4 88 89 a0 g1 92 94

Year

During which year there was no change in the number of users from 12t standard took place? / fPoad & ?aTIT-T

1281 HET T FTHER ITINT T qral Bl T J IS 9GaArd -1 el
® 1984-85
® 1988-89

® 1990-91

® None of the above/mﬂﬁ x| '\ﬁ ﬁ"-j’ T'Ié)f

Correct Answer :-1988-89

26)

Question Stimulus :-

All hot bodies heat. / Tt 7 e Som I %l
* Radiate / fa®iva
® Absorb / 3raxnivyd
® Gain / Q'@

(40)



® Reflect / WRTdfdd
Correct Answer :-Radiate / fa@fed
27)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / EiE] ﬁ'[{ T IR U4l & ﬁTE fAc=: R
RT3 I1% BT rEaT Y SR U BT IR &1 IWI P e srgEiT ge R AR B3

Student using computers

100 -

a0 1
. 804
2 707
2 60 - ——5td 12th
= B0 1
:f 40 4 —m— Sid 10th
Q
> 30 -
=50 4

10 -

U T T T T T T 1

g4 88 g9 a0 91 92 94

Year

If the strength of students for 10th and 12t standard in 1991 was 1000 each, then how
many 10th and 120 standard students used computer1991? / df¢ 1991 # 104} 3R 1281 @&
& BEI I I=AT 1000 f, 9 1991 ¥ fFawt 101 iR 121 F&m & BEN A L HT SUINT fHar?

* 300 & 800 /300 3fI¥ 800
* 400 & 800 / 400 3T 800
e 800 & 300/800 31T 300
e 800 & 400 /800 37X 400

Correct Answer :-300 & 800 / 300 3fIX 800

28)
Question Stimulus :-

ABCD is a rectangle with AB = 16 m and BC = 240 cm. Find the perimeter of the rectangle /
ABCD UF 3T4d g dUT AB = 16 HIcT 3R BC = 240 I €1 3ud &1 uRHIY i SIfoE|

® 256 cm /256 9HI

* 512 cm /512 9Ht

(41)



* 36.8m/36.8 X

* 3.68m/3.68 WX
Correct Answer :-36.8 m / 36.8 Hlex
29)

Question Stimulus :-

The device used to check whether a particular material allows current to pass
through is called / 98 gf < 78 WA & T uged gt 8 & Fa1 913 faiv verd 39+ 9 fagad
YRT 1 UINT § a1 8, FoaT ©

e electrometer / fagaaardt
 galvanometer / urmmdt
* tester / UG
* switch /fRaa
Correct Answer :-tester / TSiferT
30)

Question Stimulus :-

Rajesh buys an article with 25% discount on its mark_ed price. He makes a profit of 10%
by selling it at Rs. 660. The marked price is: / IO 3ifHd &I W 25% Fe & A4 TH A
Wledl 81 95 660 TUT H 34 ITBT 10% HT ATH Ud a1 81 3ifpd 47 7:

® Rs. 850
® Rs. 685
® Rs.700

® Rs. 800

Correct Answer :-Rs. 800

(42)



